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Answer Question 1 (compulsory quest:{qn) and two of the remaining three questions (2, 3 and
4). | ‘ ' '

1\( Compulsory questmn)

Ifescrlbe the similarities and dlfferences between the busmess- to-busmcss and busmess—to—
consumer markets in the following areas: actors in the market; nature of demand; nature of
market comniﬁnication nature of buying and selling. Describe two ways in "\irhich a career in

business- to-business marketing could be more rewardlng than in business-to-consumer

marketmg ' ' _ S 15 points.

- Choose any two guestions from Questions 2, 3 and 4.

2. Define networks accordmg to thelr mode of formanon a:nd coordmatlon Descnbe and
explain the actors-resources-activities (ARA) model of analysing relationships aud networks.

Explain your answer by using specific company and network examples. - 15 points

™. Explain four advantagés and four disadvantages_ of business relationships and networks.

Are relationships and networks good or bad for busmcss-to-businpss firms? Explain your

: ahswgr by using specific company and network examples. _ _ . 15 points

- P‘ Explam the equanon Choose a company and a product and make a value sales argument

that will beat 1ts competltor and meet a specific customer’s needs. : 15 points

' Durillg class and in the textbook, We defined the Fundamental Value Equation ds' Ve—Pr>V,



